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o HI B <tk 530 x L x 60 o JEFHiEIE 400 mm
o [FRRZE ;&M o N7 8— WXI-60x9x7. 5
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* 1% il — Wi Aoy TR P = 80 kN CEwF Po = 38 mm
- BREHK i= 0 -WERE Z = 4256 mo
- EHEEZEELRFE P, = 80.0 kN
- BEE R axb =200 mm x 500 mm
- X EEERE 0= 434 mm
RFYUGNR—AAFKERE 4 = 500 mm
CRTYDGN——KREHEMRLE L TEHET S,
- BN Op = 0.180 Kk N/mm?
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 Pi xPy
W= axb
80.0 x 38 _
W *m— 0. 030 kN/mm
M :%x W ox & x (20 — 01 ) (0,>0K 0,=0)
:%x0.030 x 434 x (2 x 434 — 434 )
= 715.8 kN-mm
o5 Hh: O
M 715.8
—_— e = <
o 7 1756 = 0.17 kN/mm2=o0ob
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